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COMPUTER SCIENCE

SSC-I

SECTION - A (Marks 12)
Time allowed: 15 Minutes
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The software that controls the operation of Utility Device Language ‘
a computer device is: O programs O drivers O processor O Firmware
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Which of the following is an electronic
device that can convert analog signal to
digital and vice versa? O Router O Switch O Modem O NIC
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The generation of computers .
have artificial intelligence. O Second O Fourth O Fifth O Third
e-GneAid st 2 St 6 &z g4l 6
in which of the following operating
systems, CPU switches rapidly between all Batch .
programs to simultaneously execute all of Processing Time Sharing Reattime
them? Q System O System O System Q DOS
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In word processer (Word) a page has onl
margins on sides. Four Three Two nly one
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Every computer can act as server, client or Client and Local area
6 both at the same time in network. O server O Peer-to-peer O Point-to-point network
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Which of the following refers to use of
computers to create, edit format and print Quick
7 documents? O MS WORD O Access Antivirus O Ribbon
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What represents overall data transmission
g capacity of computer network? O Data Rate O Band width Signal length O Baud Rate
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For inter-city communication is :
used. LAN WAN Bluetooth MAN
S.
_c‘-bﬂ)(ﬁ/l LB A e f O d O s FiP O o
is a wireless cellular
10 communication technology. O ISDN O CDMA DSL O Dial up Line
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Which is a malware that attaches itself to oo
1 free software on internet? O Spyware O Adware Worm O Virus
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Which of the following provides high speed ISDN Dial up line CDMA DSL
19 internet connection? O connection O connection connection O connection
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COMPUTER SCIENCE SSC-I

Time allowed: 2:45 Hours Total Marks Sections B and C: 43

NOTE: Answer any nine parts from Section ‘B’ ahd any two questions from Section ‘C’ on the separately

provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Q.2

Note:

Q.3

Q.’5

SECTION — B (Marks 27)

Attempt any NINE parts. All parts carry equal marks. (9 x 3 =27)
(i) Differentiate between analog and digital computers.
(i) Discuss following properties of a good communication system:

a. Delivery b. Accuracy

(iii) How computer technology has revolutionized Business? Support your answer with examples.
(iv) Enlist the advantages of using GUI.
v) How can a student use computer to improve academic performance?
(vi) What type of problems may a user face if no antivirus is installed in his/her computer system?
(vii) What is Cache Memory.
(viiy  What is hyperlink and how it works in Word Processor? Give an example
(ix) Give any three reasons why guided communication medium is more reliable than unguided medium?
(x) What is meant by following terms:

a. Bandwidth b. Crosstalk c. Data transmission.
(xi) Why is ‘star topology’ more reliable than ‘bus topology'?
(xii) Enlist any three important moral guidelines for ethical uée of computer technology.

(xii)  Which authentication methodology provides highly secure identification and verification? Justify your

answer.
SECTION — C (Marks 16)
. Attempt any TWO questions. All questions carry equal marks. ' o . (2x8=16)
a. State the difference between Synchronous and Asynchronous data tfansmissions.
b. Explain the functions of following communication de\)ices.
(i) Network Interface Card (NIC) (ii) Router

Describe following network topologies. Also mention their advantages and disadvantages:
a. Mesh topology b. Rihg topology

- Explain the following digital computers in terms of size, speed, storage capacity and number of users

they can support.

a. Mainframe computers : b. Micro computers
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Input was based on punched cards in

_____generation of computers. Fourth Second Third O First
1. . - .
0 Bkt A s ol Sl O Sz O S O A ¥
Which of the following network topologies Ring Mesh Bus
, usesa device called terminator? O Topology O Topology O Topology O Star Topolgy
e Qe g T 2By S GAgrs I SHI Iy
—_______is used for creating ‘decorative’ : Eg_utxation -
effects in word Word Art Formulas itor yperli
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Which of the following commands in excel
(spread sheet) allows the user to view only
certain data in worksheet based on Data rrjage . II\D/Iat?p ation
condition? Validation Data Filtering ormatting O anipu
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Which of the following devices is used for
connecting computers in wired Local Area Dial up Bluetooth ' '
5. Network (LAN)? : O modem O Device O Switch O Satellite
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Which of the following is NOT an Username Personal
authentication method for  ensuring and ) Identification
6 security? . password O Number O Adware. O Biometrics
st I Lbborgf e ioiiton St K e AFeds ok S
The impairment that refers to undesired
signals that enter the path of the
transmitted signal due to electromagnetic .
7 radiation is: Distortion O Attenuation O Cross talk O Noise
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Which of the following topologies is MOST. Mesh Ri
’ . . . es - Ring
- expensive to implement? Star topology ® Bus topology O topology O topology
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Which one of the following will allow users Fifth First - Second Fourth,
to give commands in any natural language generation of generation of generation of generation of
9 such as English? . computers . O computers O computers O computers
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Which orie of the following is GUI operating ’ _ Mend Driven
system? UNIX DOS Windows ~ OS
10. <
tef & 10T o e Ut Sy O U O Isks O Sl
In which of the following trarismissions the
time-interval between the characters is . ' :
11.. always the same? Asynchronous O Synchronous Q Satellite O Microwave
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allows the user to access the
contents of computer drives and manage Program Computer ~ Recycle Bin
12 files and folders. ’ " lcon tcon O File lcon 4 O Icon
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Time allowed: 2:45 Hours

/

Total Marks Sections B and C: 43

COMPUTER SCIENCE SSC-I

NOTE: Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

Q2

‘Note:

Q.3

SECTION — B (Marks 27)

Attempt any NINE parts, All parts carry equal marks. (9x3=27)

(i

(xii).

(xiii)

Attempt any TWO quéstions. Ali questions carry equél marks.

Differentiate between RAM and ROM.

What is meant by managing data and why is it important?

Why is operating system an important software for a computer? Give any three reasons.
What is dial up modem and why it is used?

Differentiate between ‘page break’ and ‘section break’ in MS Word (Word processor).
What is meant by:

a. Port b. Expahsion card C. Expansion slot

Enlist any three uses of computer in media.

Write any three limitations of ring topology.

Enlist any three actions performéd by spyware,

State the difference.between ‘authentication’ and ‘authorization’ with examples.

Mention any three problems which may occur if peer-to-peer network is used for a large number of users
in an organization.

Compare 'DSL’ and ‘Dial up line’ in terms of:

a. Transferrate  b. Cost per month C. Disadvantage

What happens if storage devices are removed from compute‘rs.ystem?

SECTION - C (Marks 16)

(2 x 8 = 16)

Describe the following guided media on basis of structure, purpose, speed and cost.

a.

Twisted Pair Cable

.Fiber Optic Cable

Describe any four uses of networks.
Compare LAN and WAN.

Explain basic operations of a computer.

Describe following components.of communication system.
Sender Receiver Message Protocol
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